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1. Which one of the following (Mineral - Mine) 

is not correctly matched? 

Mention of the Matsya Janpad is found firstly 4 

in the 

(A) Rigveda (B) Yajurveda (A) Lead and Zinc - Rajpura Dariba 

(C) Samaveda (D) Atharvaveda (B) Manganese Kalakhunta 
(C) Iron Ore - Dabla

(0) Copper- Lilwani 

(A) R (B) agdr 
(D) 3serdde 

Who among the following Governorsof 

(C)HTHÀ 
2. (A) HT 3R TI - TITT TT 

(B) tA- BTTT Rajasthan died, while in the office? 
i) Shri Darbara Singh (C) E 3TE - 3aT 

(ii) Shri Nirmal Chandra Jain 
(D) aiT Ataa 

(ii) Shri Shailendra Kumar Singh 

iv) Shri Kailashpati Mishra Wakal, Meshwa and Hathmati are tributanes

Choose the correct code- of- 

(A) G) and (i) (B) (i) and (ii) (A) Mahi River 

(C)i), (i) and (ii) (D) (i) and (iv) (B) Banas River 

(C) Sabarmati River 

(D) Chambal River 

(i) avATRT E 
(A) HTE T1 

(iv) aTRTYtA fAs (C) HIVHTt d 

(D) qad TI 

(8) Gi) a7R (ii) (A) () 3R (i) 

(C)), (i) 3tt (ii) (D) (i) 3tx (iv) 
6. Which one of the following (Conservat- 

Reserve - District) is not correctly matched- 
3. Which one of. the following (Baori - Place)is 

correctly matched? 

(A) Chand baori - Abhaneri 

(A) Phulwari ki Nal - Rajsamand 

(B) Kesarbagh - Dholpur 

(C) Bassi-Chittorgarh 
(B) Trimukhi baori - Churu 

(D) Shergarh -Baran 
(C) Nulakha baori - Jaipur 

(D) Jhalibab baori - Sikar 

(A) i ara_t - THTA 

(B) faget aTTS T 
(B) H TT stayy 

C) H fartzTg 
(D) TTG- JRT (D) HTTATa arasi - Y 
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7. hich of the following are the correct pairs of 10. Who was the saint who narrated the teachings inscription prashasti and their year of of Dadu while disguised as a bridegroom for 
inscription? 

)Achaleshwar Inscription 1285 AD 
) Bijolia Inscription - 1170 AD 

3 Chirwa Inscription - 987 AD 

(4) Kumbhalgarh Prashasti - 1460 AD 

the rest of his life? 

(B) Rajjab ji 
(D) Madho Das ji 

(A) Sundardas ji 
(C) Rampal Das ji 

Choose the comect code -

(A) 1.2 and3 (B) 1,2 and 4 
(A) ETH (B) TTa 
(C) VTHT ZTEI (D) HTTTE 

(C) only 2 and 3 () only 1 and 4 

. Paryushan Parva is related to which 

community? 
(A) Sindhi (B) Sikh () eTkar RATT - 1285 . 

(2) fauferT TOTR 170 . 
() atraT frTt- 987.
4) T XT - 1460 . 

(C) Jain (D) Ramsnehi 

(A) friT (B) fa 
(C) (D) THT (B) 1,2 d 4 (A) 1,2 ga 3 

(C) a 2 ya3 
12. The ruler of Jodhpur at the time of Revolt of 

1857 was 

(A) Maharaja Man Singh 

(D) a 1 yi 4 
8. When was the Rajasthan State Information 

Commission constituted? 
(8) Maharaja Takhat Singh (A) April 18, 2006 

(B) October 2, 2005 (C) Maharaja Sardar Singh 
() Maharaja Bakhat Singh (C) June 5, 2006 

(D) May 12, 2005 
1857 foslE H74 R ITHCD 

-

TAT 21? (A) TERIT H fNE 
(A) 18 3, 2006 (B) TERTT T N 

(C) HETRTGIT FRETR fHE (B) 2 37rE7r, 2005 
(C) 5 2006

(D) 12 2005 
(D) HETNIUT T NE 

13. The famous theater director Shanta Gandhi 
was associated with which of the following 
drama styles?

(A) Gavari 

9. Vindhyan Escarpment are made of which type 
of rocks? 

(A) Basalt (B) Quartzite (B) Swang 
(C) Sandstone (D) Granite (C) Bhavai (D) Rammat 

(A) Ta (B) FATT (B) aTEHIE 
(D) HTEE 

(A) HIT 

(C)aTqa yer (C) s D) HT 
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14. The achievements of the rulers of which 18. Ramjhol' is wlhich type of folk Musical 

dynasty are mentioned in the Bijolia instrument? 

Inscription? (A) Membranophonic (A vanaddha) 

(B) Chordophonic (Tat) 

(C) Acrophonic (Sushir) 

(D) Autophonic (Ghan) 

(A) Sisodias (B) Chauhans

(C) Rathores (D) Parmars 

(A) 3771 (A) frrifeaT (B) alEH 
(B) cT (C) Tots (D) RHTY 
(C) 

15. First rope-way in Rajasthan was started in 
(D) E 

which district? 
19. The Commission, which recommended for a 

(A) Udaipur (B) Jalore 
fixed five year term for the Governors 

(A) Rajamannar Commission 

(B) Punchhi Commission 

(C) Jaipur (D) Ajmer 

(C) Shah Commission 

TT T? (D) Liberhan Commission 

(B) ITR 
(D) 3TAR 

(A) 3E7 
(C) Ty 

16. The Uparmal Panch Board was formed by 

(A) Sadhu Sitaram Das (A) TUR 3TT 

(B) yot TTT 

(C) TE 34TgT 
(B) Manna Patel 

(C) Motilal Tejawat 
(0) Vijay Singh Pathik (D) ferRETT 37T 

20. The difference between north to south and east 

to west extension of Rajasthan is -

(A) 41 Kilometers (B) 42 Kilometers 
(A) HT iTNTA ZTI 

(C) 40 Kilometers (D) 43 Kilometers 

(C) HTctei TUTTT 

(D) fau fiE yf97 a 

17. Indian Railways Research and Training (A) 41 fdcier (B) 42 foTATER 
Centre is situated in (C) 40 frcatAex (D) 43 fronAEr 
(A) Udaipur (B) Jaipur 21. The highest Plateau of Rajasthan is -

(B) Hadoti (C) Jodhpur (D) Pachpadra (A) Mesa 
(C) Bhorat (D) Oriya 

(A) AHT (A)yr 
(C) GTr 

(B) Tuy (B) FTETT 

(D) yareT (C) HTRTE (D) 3fT 
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o2. Which one of the following (Lift Canal Project 
Drinking waler availability area) is not 

4 In which language is the Ghosundi inscription 

written? 
correctly matched? 

(A) Prakrit (B) Rajasthani 
(A) Kanwar Sen - Bikaner, Ganganagar 

(D) Sanskrit (C) Apabhransh (B) Gandheli Sahwa- Churu 

(C) Gajner/Pannalal Banupal - Bikaner, 
Nagaur 

(A) up 
(C) A 

(B) TTT 

(D) p 

(D) Rajeev Gandhi - Jaisalmer 

20. Olyun' is associated with which occasion of 

Rajasthani folk life? 

(A) Birth occasion song of son (A) ar TA - atTN, TIR 

(B) Teci HIET 
(C) TR/ TATGT TOYI áabHN, aIiR 

(B) Daughters wedding farewell song 
(C) Folk dance performed on Holi 

(D) Wedding reception song 
23. National Highway 44 (NH44) passes through 

which district of Rajasthan? 
? (A) Bharatpur 
(A) a uIRT THa (B) Karauli 

(C) Sawai Madhopur 

(D) Dholpur 

(D) TRTT 3TTTAI 1 TtT 
27. Hurda Conference was convened in the year -

T GTHTT 44 (NH44) VTTRIA f»H 

TTRAT ? 
(A) TRTyR 

(B) To 

A) 1734 AD (B) 1740 AD 

(C) 1804 AD (D) 1757 AD 

(C) HAT HIETyY 

(D) ta 
A) 1734 (B) 1740 S 24. Who constructed "Chaurasi Khambon Ki 
(C) 1804 (D) 1757 g. Chhatri" in Bundi? 

(A) Rao Anirudh 28. The field of Sitaram Lalas was -(6) Rao Shatru Sal 
(A) Archaeology and history (C) Maharao Budh Singh (B) Rajasthani language and lexicography (D) Maharao Vishnu Singh (C) Journalism 

(D) Social reform 

YTy? 
(A) RTa 31 

(A) yrr ya zfdem (B) T TZHIT 

C) HERT qu fHE 
() HETRT fquj fHE 

(C) AkaT 

(D) HHTHR 
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. On which part of female body is Kandora 

ornament worn? 

23. In which district is the Shiv temple of 

Charchoma located? 
io (A) Ears 

(B) Waist 
(A) Jhalawar (B) Kota 
(C) Bundi (D) Tonk 

(C) Hands 

(D) Forehead 
(A) HTTT (B) eT 
(C) (D) ai 

30. Which breed of sheep in Rajasthan is known 

as 'Indian Merino ? (A) a5T
(A) Chokla (B) Malpuri (B) a74 
(C) Pugal (D) Magra (C) FP 

(D) TATT 
34. Which period of the ruler of Kota is supposed 

to be the excellent period for the Kota school 

of Paintings? 
(A) Maharao Shatru Sal Singh I 

(B) Maharao Kishor Singh 

O (C) Maharao Ummed Singh l 

cbET T 8? 

(A) atcoa (B) ATTN 

(C)T (D) HTRT 

31. At which place did Shobhalal 

established an Ashram for the development of 

Harijans and Bhils? 

Gupta 

(D) Maharao Shatru Sal Singh II 

(A) Banswara (B) Alwar 

(C) Wardha (D) Saagwara 

(A) (A) HETRT TTHTT MEI 
(6) (B) TETRTT fritr fris 

T? 
(A) aiHa (B) 374R 

(D) TERT TZHIA NE II 
35. In which battle did Maharana Sanga defeat 

(C) aef (D) HTTAT^T 

32. Transverse sand dunes are found in which 

districts of Rajasthan? 

(A) Bikaner-Ganganagar 

Babur's army? 
(A) First Battle of Panipat 
(B) Battle of Ghaghara (B) Jodhpur-Barmer 

(C) Jalore-Pali (C) Battle of Khanwa 
(D) Jodhpur-Nagaur (D) Battle of Bayana 

ERTT? 

(A) ataH-jTHTR (A) qTHYa YH JE 
(B) TTugR-asAR 
(C) TIR-yToh 

(B) TERT Z4 

(C) THT Z 
(D) eyr-TIN (D) ay ZG 
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36. Which of the following is a fertilizer mineral 40. The author of the book entitled "Bhagat 

of Rajasthan? 

(A) Gypsum 
Movement" is -

(B) Rock-phosphate (A) G.N.Sharma (B) V.K.Vashishtha 

(C) Pyrite (D) All of the above (C) Rima Hooja (D) Pemaram 

(A) for (B) t-e 
(D) 3uNT (B) a af9 (A) yTT 

(C) 
(C) TRIEE 

(D) RTE 37. The purpose of Rajasthan Public Service 
Guarantee Act, 2011 is - 41. The metal having the lowest temperature 

(A) Bring Transparency 
(B) Providin 

coefficient of resistance is -

Grievance Redressa (A) Gold (B) Copper 

Mechanism (C) Aluminium (D) Kanthal 

(C)Right to receive service 

(D) All of the above 
(A) oS (B) i 

ITTT G HAT TIEI 3Ay, 2011 i (C) yoyfafAy4 (D) a5r 

42. A 40kVA transformer has core loss of 400 W 

& full load copper loss of 800 W, The 

proportion of full load at maximum efficiency 
(A) TRaT}T T 

is 

(A) 50% (B) 62.3% 

.(C) 70.7% (D) 100% 
What is the share of Namada river given tq 

Rajasthan? 
38. 

g5 40 kVA Z*HSHR R TH 400 W a 

27 4 H 800 W I 3HeTcHTH A4T (A) 1.90 MAF (B) 8.60 MAF 

(C) 9.10 MAF (D) 0,50 MAF 

(A) 50% (B) 62.3% 

(C) 70.7% (D) 100% 
43. In AC rotating machines, the generated EMF -

(A) Is in phase with working flux . 

(B) Leads by 90° 

(A) 1.90 MAF (B) 8.60 MAF 

(C) 9.10 MAF (D) 0.50 MAF 

39. In which Peasant Movement were the two (C)Lags by 90°

farmers Rupaji and Kripaji Dhakad martyred5| 
(A) Bijolia 

(D) None of these 

(B) Begun 

(C)Barad (D) Bikaner 

(A) r FTaH (0) HPI 

(B) 90° ETRT O STT 

(C)90° ETRT 1s 
(A) fauiferT (B) & 

(C) T (D) eH 
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44. In CSI if frequency of output voltage is fHz, 
4. The most commonly used method for 

then frequency of voltage Input to CSI is -

(A)f 
prolcction of 3 phase feeder is -

(A) Time Graded Protection 

(B) 2f (B) Differential Protection 
(C) f/2 

(C) Reverse Power Protection 
(D) 3f 

(D) None of the these 

T CSI YT aoT 31TgfR 

(A) f 
(A) ET54 E Ue 

(B) 2f 
(B) ffrrA TeaT- 

(C) f/2 

(D) 3f (C) fa yrTY UTET 

45. The most economic load on an overhead line 

is- 48. For the SFG shown below, the grapPh 

(A) Greater than natural load determinant A is -

(B) Less than natural load. 

(C) Equal to natural load 

(D) None of these 

(A) 1-bc-fg-bcfg+cigj 
(B) 1-bc-fg-cigj +bcfg 

(D) T (C)1+bc+fg+cigj-befg 
(D) 1+bc+fg+bcfg-cigj 46. The voltage at two ends of a line are 132 kV 

and its reactance is 402. The capacity of the 

line is- HTTY T SFG fGy rys fAuivs A -

(A) 435.6 MW 
(B) 217.5 MW 

(C) 251.5 MW 

(D) 500 MW 
-0 

FHT tuTT (RYTTT) 40 2EI AIE 

(A) 1-bc-fg-bcfg+cigj (A) 435.6 MW 
(B) 1-bc-fg-cigj +bcfg 

(C) 1+bc+fg+cigj-bcíg 

(D) 1+bc+fg+bcfg-cigj 

(B) 217.5 MW 

(C) 251.5 MW 

(D) 500 MW 
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49. The modulating frequency in frequency 

modulation is increased from 10 kHz. to 20 

kHz. The bandwidth is 

YT AI ETRT TRT I FTT Y 

22 
M. 

(A) Doubled 22 40 
(B) Halved 
(C) Increased by 20 kHz 

(D) Increased tremendously 
5V 6 1oV 

(A) 0.908 amp 

(B) 0.112 amp 

10 kHz 20 kHz TERT TAT 8, (C) 0.412 amp 

(D) 1.11 amp 

52. When port 1 of two port circuit is short 

circuited, I = 412& V2 = 0.25I2. Which of the 
(A) aTT 
(B) 31TET 

following is true? 

(A) Y4 
(C) 20 kHz 5 T¢- 

(B) Y12=16 (D) T a¢f 
(C) Y21=16 (D) Y22-0.25 

50. Comment on the stability of control system 

whose characteristic equation is given by -

sS+2s +24s + 48s -25s 50 0 faaT TT , I = 412 a V2 = 0.2512 
(A) Stable 
(B) Marginally stable 

(A) Y4 (B) Y12=16 
(C) Insufficient data 

(C) Ya=16 (D) Y22-0.25 
(D) Unstable 

53. If the load impedance is 20 j20, the power 

factor is -

(A) -45° (B) 0 

s+2s +24s3+ 48s-25s-50 =0 
(A) ferR 

(C)1 (D) 0.707 

3TR AE zriS 20- j20 , a qyraR rExR (B) HTH er 

(C)3TET I HEi 

(D) 3tferr 

BTTT 

(A)-45 (B)0 
(C) 1 (D) 0.707 51. Find current I by super position theorem- 

54. Secondary Breakdown occurs in -
22 

M (A) MOSFET 
(B) BIT 

2242 
(C) Both 

sV I 6 1OV (D) None of these 

(A) 0.908 amp (A) MOSFET 

(B) 0.112 amp (B) BIT 

(C) 0.412 amp (C) 
(D) 1.11 amp 
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62 

59. VAh metering can be done by using -

55. The inverse Fourier Transform of 
e 

,4i 
1S -

(A) Ball & Disc Friction Gearing 
2+jo 

(B) e-2U(t- 1) 
(D) -2(t-1)U(t - 1) 

(A) e-2t 
(B) Trivector meter 

(C) Bridge Connected rectifiers 

(D) All of the above 
(C) e-2(t-1) 

e 

2+jw 
VAh hef 37T ERT f T 

(B) e-2U(t-1) 

(D) e-2(t-1)Ut - 1) 

(A) e-2t 

(C) e-2(t-1) 
(B) FEdrer er 

56 An UIT exhibits negative resistance region- 
(A) Before Peak Point 

(D) 3uvta (B) Between Peak & Valley Point 
60. In an electronic ohmmeter, OP - AMP is used 

for 
(C) After Valley Point 

(D) None of the above (B) Multiplier (A) Summer 

(C)Buffer Amplifier (D) Integrator 

(A) HDTT7 (B) TU (D) S 
(C) q yqes (D) yatroT a 

57. The no load current in transformer lags 

applied voltage by -

(A) 90 
(C) 0 

61. The angle condition in a Root locus is given 

by (B) 75 

(D) 110° (A) G(s)H(s) = t 180 (2k+ 1); k = 0, 1, 2, 3 

(B) 2 G(s)H(s) = t 90 (2k + 1); k = 0, 1, 2,3 

(B) 75 (C)2 G(s)H(s) = t 360 (2k + 1); k = 0, 1, 2,3 
(A) 90 

(C) 0 (D) 110 
(D) None of these 58. A 1- Phase full bridge inverter can operate in 

load commutation mode in case load 

consists of- 
ETRT T ? 
(A) G(s)H(s) = t 180 (2k+ 1); k = 0, 1,2,3 

(A) RL (B) RLC underdamped 

(C) RC (D) RLC Over damped 

(B) G(s)H(s) = t 90 (2k +1); k = 0, 1,2,3 
***** 

(C) 2 G(s)H(s) = t 360 (2k + 1); k =0, 1,2.3 

(A) RL (B) RLC TS ******* 

(C) RC (D) RLC tars 
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66. Creeping in 1 phase Induction type energy 

meter may be due to 

(A) Overcompensation for friction 

(B) Overvoltage 

In the Mason's Gain formula for signal flow 

graph T= .Grepresent 
(A) Gain of the kh forward path 

(B) Gain of the kh reverse path 

(C) Reverse gain of the kh forward path 
(C) Vibrations 
(D) All of the above 

D) None of these 

(T 2 , G ufafafe -

(A) ETeu fay ar-THT 

(B) 3itr-atee 
(A) kth T YI TI GAH (C) ar 

67. A feedback system is stable, if the number of 

zeros (Z) of a characteristic equation in the 

right half of s-plane is 

(A) Z=1 
63. Response of the first order system subjected to 

unit step input is given by -

(A) C(t) = 1-e (B) Ct)=e -T 
(C) C) = «- 1 (D) None of these 

(B) Z=0 

(C) Z=2 
(D) None of these 

(A) C()=1-er (B) C(t)= e-T 
(C) C(t)= erT 1 (A) Z=1 

64. Induction Generator works between the slip- (B) Z 0 

A)1<S<2 (B) 0.1<S<1 (C) Z=2 

(C) S<0.0 (D) None of these (D) T TE 
68. Bode plot consists of two separate plots, one 

of which consists of- 

(B) 0.1 <S<1 

(D) 

A) 20 log1o IG(jo) Vs log » 

(B) 20 logioIG(j@)I Vs o 

(C) u TE Vs ® 

(A) 1<S<2 

(C) S <0.00 

65. The coefficient of reflection for eurrent for an 

(D) None of these open ended line is- 

(A) 1.0 B) 0.5 
(C) - 1.0 (D) Zero 

(A) 20 logio G(jo)l Vs log o 

(B) 20 logio 1G(jo)| Vs 

(A) 1.0 (B) 0.5 (C) Phase shift Vs o 

(C) - 1.0 (D) o (te) 
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69. Transmission bandwidth (B) of AM signal 37ave MVT (x(t) = Ax(t) + Bu(t)) TRT 
76. The 

is- (A) 

(A) O (B) /2 (C) 

(C) 2 m (D) 4 om 
(Ap(t) = L-1|sl - AJF 
(B) d(t) = L-1|sl - A] 

(C) o(t) = Isl- AJ 

(D) aTE 

AM i givfAAT7 sfE (B) EAT 
(A) 

(C 
S. The per unit impedance ZPo) in 3 - phase 

system is -

(B) m/2 (A) om C 
(C) 2 (D) 4 Om 77. Pe 

(A) Z(N) x (MVA_)/(kV)E 

(B) Z(n) x (kV)3/(MVAB) 

(C) 1000 x (kV)B/V3 la 

() 1000 x (kV)B/lB x 10° 

70. Constantan Contains 

(A) Silver & Tin 

(B) Copper & Tungsten 

(C)Tuné[+en & Silver 
(D) Coppep& Nickel 

(C 

(A) aTchafea 
(B) ir 
TRET 

(A) Z(n) x (MVAg)/(KV) 
(B) Z(0) x (KV)3/(MVAB) 

C1000 x (KV)B/^3 ls 

(D) 1000 x (KV)B/lß x 10°

(C) ETE aict 

(D) aiaT Aa 
L 

4.The zero-sequence 
current of a generator for 

line to ground fault is j2.4 pu. The current 

through neutral during the fault is- 

(A) j2.4 PU 

(C) j7.2 PU 

71. One of tho following can acts as an Inverse 

Transducer? 
(A) Electrieal Resistance Potentiometer 

(B) LVD 
(C) Capacitive Transducer 

(D) Piezo lectric Transducer 

78. 

(B) j0.8 PU 

(D) j0.24 PU 

RTH E H7 j2.4 pu I 5toE a q 

(B) j0.8 PU 

(D) j0.24 PU 
(A) j2.4 PU 

(C) j7.2 PU 

75. For maximum current during 'Slip Test' on a 

synchronous machine, the armature mmf 

aligns along- 
(A) d-axis 

(A) ftgra zfGrTI UTetRraitAeR 

(B) yaasIat 

(C) aa EHSTR 
(D) 4tu RgETHTAR 

The value of state transition matrix ()) fora 

homogeneus state equation, solved by 

Laplace "transform method given by state 

(B) q-axis 
(C) 45 to d-axis (D) 45 to q-axis 

equation (x() = Ax(t) + Bu(t)). is -

(A t) = £|sl - A] 

(B) (0)= £-[sl - A] 
(C)ot) = [sl - A] 

ETT 
(A) d-axis (B) q-axis 
(C) d-axis H 45° (D) q-axis 7 45 (D) None 
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81. A 1- phase full bridge VSI has inductor L as load, for a constant source voltage, the current through inductor is -
(A) Square wave 
(B) Triangular wave 

84. The maximum short circuit current occurs 

case of 

(A) Three phase bolted fault 

(C) Sine wave (B) Line to line fault 

(D) Pulse wave (C) 3 phase to ground fault 

(D) Single line to ground fault 

(A) Far 

(B) TTTAR àa 
(C) FHI7 d 

(D) TH 
82. An IGBT has 3 terminals called- 

(A) Collector, Emitter & Base 
85. Superconductivity is observed for -

(B) Drain, Source & Base (A) Infrared frequencies 
- (C) Drain, Source & Gate (B) DC &low frequency 

(D) Collector, Emitter & Gate (C)AC & high frequency 

IGBT dA zATA Bd 
(D) None of these 

(A) BTE TgM 

(D) caex, Fier q e 

83. The material used in liquid fuses is -

(A) SF6 (D) TT T 

(B) Distilled water 86. The EMF equation of D.C. Machine is -

(C) Carbon Tetra chloride 

.(A) NÙZP/60A (B) PNZ/60N 
(D) Transformer oil 

(C) PN/120 (D).Zo/120P 

(A) SFo 

(B) fefters afer 
(A) NOZP/60A (B) PNZ/60N 

(C) PN/120 (D) Zo/120P 
(D) giHwssr da 
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H is 
magnetic 

field 

ilux density and ju is permeability of 

nctic field in ampere/metre, B is The Rate of Rise of Restriking 
Voltage 

(RRRV) depends upon 
(A) System Voltage 
(B) Circuit Power Factor only 

then the true ation among them 

mgneti 

the medium, the 

(C) Switching condition only 
.(D) Both (B) and (C) 

(A)B=+H 

(D) H= B 
(C) B uH 

B J4t 

(A) rEH dtoe 
(B) B= 

(4) B= + H 

(D) H LB 
(C)B=uH 

(D) (B) a (C) a 
. Pulse stuffing is used in. 

Findthe resonant frequency for the given 
(A) Synchronous M(B) Asynchronous 

TDM RLC circuit -

(D) None of these 102 
M 

2Henry C) Any TDM

(B) ytH TDM (A) fer7T TDM 

C) faT7 TDM (D) Å E 

88. A signal f() has energy E, then what will be 

the energy of the signal f(21) -

.(B) E/2 

V-50sin 
(A) = 0.158 x 10 rad/ sec 

(8) a0 2.5 x 10 rad / sec 

C)0=42.31 x 10 rad/ sec 
(D) 1.12x 10' rad/ sec 

(A) 2E 
(C) 4E (D) 3/4 E 

f2) sr -

(A) 2E (B) E/2 RLC uNue foy TTHI 
(C) 4E (D) 3/4 E 

90. What will be modulation index of an FM 102 2 Henry 20uf signal which is being broadcast in the 88-108 
MHz band? This FM wave has a carrier swing 
of 125 kHz. 

(A) 75% (B) 62% 
(C) 83.3% (D) 90.5% 

V =50sina 

(A) = 0.158 x 10 rad/ sec 1 88-108 MHz }s Å aISDTR EI TEIE 
3TR fTA dfRur frm 125 kHz 3? 

(B) O0 2.5 x 10 rad/ sec 

(A) 759% 
(B) 62% (C)O 42.31 x 10 rad/sec 

C) 83.3% 
(D) 90.5% (D) o 1.12 x 10 rad/ sec 

113 
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20 sin (ot + 

93. Find Laplace of the pulse given below 
95. If Vi 30) sin 

(ot+ 
10°) & V2 = 20, 

S00°), correct 
statement 

is 

(A) V, leads V2 
s(). 

(B) V leads Vi 

,(C) V lags Vi 

(D) V lags V2 

3 V = 30 sin (ot+ 
10°) T V2 = 20 sin (ot 

+ 50°) T HI 
FIAE-

(A) V, HT &V2 7 

(B) V2 31 Vi 

(C) V, tT VH 

(A) e-25-e-45 (B) eS-e25 

S 

.(C) e45-e-25 (D) 25- 
S (D) V, drB 8 V,4 

96. In thyristor, holding current (IH) 1S 

(A) More than Latching 
current (l 

(8) Less than Latching 
current (IL) 

(C) Equal to Latching 
current (lL) 

(D) Very small 

s(t) A 

yfrer , aifcsT 7NE (l4)-

>t 
0 

(A) e-25-e-4s (B)e2 (D) agd 4 BTT 

S 97. In a biased differential relay, the bias is 

defined as a ratio of 

(A) Number of tums of restraining and (C) e45-e25 (D) e-25-e 

S 

94. Which one of the following theorems is a 
operating coil 

manifestation of Law of Conservation of (B) Operating coil current and réstraining col 

Energy? 
(A) Tellegen's Theorem 

(B) Reciprocity Theorem 

current 

(C) Fault current and restraining coil current 

(D) Fault current and operating coil current 

(C) Thevenin's Theorem. 

(D) Norton's Theorem 

(B) qTRFufAI (rnATAE) yHu 

(C) eaff H 

(D) ica H 

113 
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00. Figure shows the Nyquist 
plot 

of the open 

G(sH() has one right - handpo 
the 

closed 

is the total angular period in the circuit 

loop transfer function G(s)H(s) 
of a system. 

If 
What 

shown below 

wave rectification? 

w for which diode provides half 

loop system is- 
GH-Plane 

52 100sin 

50V 

R. 0=0 

A) 150° (B) 120 (1,0) 

(D) 90 (C) 180 
0 positive 

(A) Always stable 

Unstable with one closed - loop right hand 

pole 
(Unstable with two closed - loop right hand 

poles 52 100 sin 0 
() Unstable with three closed - loop ight 

hand poles -50 V 

(A) 150 (B) 120° 

(C) 180 (D) 90 

99. A linear time - invariant system initially at 

mGH-Plane rest, when subjected to a unit - step input gives 

a response y(t) = te; t> 0. The transfer 

function of the system is 

(A)1 
s(s+1)2 

(B) S 
(s+1)2 00 R. 

-1,0) 

(C)1 
s(s+1) 

(D) 1 
(s+1)2 

0 positive 

(A) gHRT R 
faiebAT yt) = te; t> 0 T I ATy 

HtRerr 

(A)1 
s(s+1)2 

(B) S 
(s+1)2 

(C)1 (D) 1 
(s+1)2 s(S+1) 3Hferr 

113 
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101. If ansformer frequend is changed from 50 04, An actable 

multiviberator 

circuit using IC 5se 

timer is shown 
below. 

Assume 
that the circ 

is oscillating 
steadily. 

The 
voltage Ve actoo 

the capacitor 
varies 

between- 

555 
uit 

Hz to 60 Hz, the ratio of eddy current loss 60 
Hz to 50 Hz at constant voltage is- 

H5/6 
(0) 6/5 

(A) 25/36 
(C) 1.0 

(Supply) 
ufe zrHuttr aal 31gT 50 Hz d 60 Hz aze 

, a a ITy TR 60 Hz à50 

30 K (Reset) 

Hz 7e etd a7l 3TUTT 
(B) 5/6 

6 (Threshold) 

Output) 3 
(A) 25/36 10K 

(C) 1.0 (D) 6/5 

102. An alternator of 00 W 1s driven by a prime 
mover of speed regulation 4% and another 

alternator of 200 kW driven by a prime mover 

if speed regulation 3%, when operating in 

parallel. the total load they can take without 

2(Trigger) 

(Ground)1 

(Discharge 

12K 
-

Vc0.014f 
any of them being oveloaded is -

(A) 425 kW (B) 567 kWW 

(C) 500 kW (D) 257 kW (B) 3 V to 6 V 

(A) 3 V to 5V 
(D) 3.6 V to 5 V 

(C) 3.6 V to 6 V 

300 kW y7 yrua 4% TA Au4a 

yISH Y EINT TT UMT N 200 

kW H YTTT 3% Tfa fAq47 

HT 555 ETE4R T Y7T YT 

(A) 425 kW (B) 567 kW 30 K (Reset) (Supply) 

(C) 500 kW (D) 257 kW 6 (Threshold) 
(Output)3 103. A three - phase, 33 kV oil circuit breaker is 

ated 1200 A, 2000 MVA, 3s. The 

symmetrical breaking current is 
(A) 1200 A 

10 K 

2 (Trigger) 
(B) 35 kA 

(C) 104.8 kA (D) 3600 A (Ground)1 
(Discharge) 

12 K 

5 3-57, 33 kV 3s ufRuy v 1200 

A, 2000 MVA, 3s 7 fAefa fyT TT Vc0.01 uf 

(A) 1200 A (B) 35 kA (A) 3 V to5V (B) 3 V to 6V 

(C) 104.8 kA (D) 3600 A (C) 3.6 V to 6 V (D) 3.6 V to 5 V 

113
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108. Bulk power transmission 
over 

long 
HVDDC the current chopping tendency, 

To minimize 

the SFo gas is used at -

of -

(A) Low Velocity and low Pressure 
B) High Velocity and low Pressure 

C)Low Velocity and high Pressure 
D) High Velocity and high Pressure 

lines are preferred, on account 

(A) low cost of HVDX terminals 

(B) simple protection 
(C) no harmonic problems 
(O) minimum line power losses 

(A) HVDC zff-Tai 
(B) TH TRAT/TTra 

106. If the fault current is 2000A, the relay setting109. Match List- Quantity) 
is 50% and CT ratio is 400/5, the plug setting 

with List-II 

Dimensions) and select the correct answer 

using the codes given below the lists 

List-I 

multiplier will be -

(A) 25 A (B) 15 A List-II 

b) 10 A 1. [M TI 
B. Magnetic flux density 2. [M'L T I] 

3. [ML2 Trj 
4. LI] 

(C) 50 A A. EMF 

qf i E 2000A z, fra IET 50% 
R CT 3gyT 400/5 , a T H�T TUTT 

C. Magnetizing force 

D. Reluctance 

(A) 25 A (B) 15 A Code 

(C) 50 A (D) 10 A (A) A-(2), B-(1), C(3), D-4) 

(B) A-3), B-(1), C-(2), D-(4) 

C) A-(3), B-(2), C-(4), D-(1) 
(D) A-3), B-(1), C-(4), D-(2) 

107. The insulation resistance of a cable of length 
10 km is 1M2. For a length of 100 km of the 
same cable, the insulation resistance will be -

(A) IMQ 

(B) 10M2 
0.1MS 
(D) 0.01MQ T-I 

1. [MT 1' 

2. [M L2T 

3. [ML Tr) 

4.L'I 

A.H.47 

C. aa 
D. forre 

(A) IMQ 

(B) 10MQ (A) A-(2), B-(1), C-(3), D-(4) 

(C) 0.1MQ (B) A-(3), B-(1), C-(2), D-(4) 
(C) A-(3), B-(2), C-(4), D-(1) (D) 0.01Ma 
(D) A-(3), B-(1), C-(4), D-(2) 
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110. The total current I I+lh in a circuit is 
measured as I = 150: t A 

, h= 250 + 2A 
where the limits of or are given as standard 

iron 
2. A resistance wire strain gauge uses a soft 

tis + 
wire of small diameter. The gauge factor :. 

, the 4.2. Neglecting the piezoresistive effect 

deviations, Current 1S measured as -

Poisson's ratio is- 

(B) 0.625 (A) 2.6 X(A) (400 + 3) A (B) (400 t 2.24) A (D) 2.1 (C) 1.6 
(C) (400 t 1/5) A (D) (400+| 1) A 

= 1501A, h=250 2A fqT GTTI 3, TEI 

(B) 0.625 (A) 2.6 

(D) 2.1 I 5T HIYH fUT GTT- 
(C) 1.6 

(B) (400 t 2.24) A 
113. The sum of the gains of the feedback paths (A) (400 t 3) A 

the signal flow graph shown in figure is . 

(C) (400 1/5) A D) (400 +1) A 

111. For measurement of inductance having high
f d e 

value, we should use -

(A) af +be + cd + abef+ abcdef 
(A) Maxwell's bridge 

(B) af + be + cd + cbef + bcde + abcdef 

(B) Maxwell Wein bridge 
(C) af +be + cd 

(D) af + be + cd + abef. + bcde (C)Hay's bridge 

(D) None of the above 

d f e 
(A) Hva f 

(A) af + be + cd + abef + abcdef 

(8) af + be + cd + cbef + bcde + abcdet 

(C) fa (C) af + be + cd 

(D) af + be + cd + abef + bcde 
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116. Consider the system shown 
in Fig.l 

and Fig.2, 

if the forward path gain is 
reduced by 10% in 

cach system, then the 
variation 

in Ci and C2 

114. Given that H = 0.5 e".IX sin (10°1- 2x )a, A/m. 

which of these statement are incorrect? 

(A) a = 0.1 Np/m 

will be respectively 
(B) B = -2 rad/m 

R 2 
(C) = 10° rad/s 

(D) The wave travels along a 
Fig.1 

7 H=0.5 e sin (101-2x )a, A/m 

(A) a =0,.1 Np/m 

(B) = -2 rad/m Fig. 2 

(C) o= 10 rad/s (A) 10% and 10% 

(B) 2% and 10% 

115. The transconductance gm Of a JFET is equal (C) 10% and 1% 

(D) 5 % and 1% 
to 

pss(1 Vp 
fra 1R faa 2 aÍr TT ABR ATR 

(A) -2 Ipss 
Vp 

(B)2 (Ipss-ID) 
Vpl 

10% 4 7 f¢uT TT Ci TR C2 

(C)-2 oss(1-) VP R 

(D) Ipss (1 Yos 
VP Vp 

Fig.1 

ge JFET 5I TRHITHET gm RTaN C 
pss 
Vp 

(A) -2 Ipss 
Vp Fig.2 

(B) (1pss-Ip) 
IVpl 

(A) 10% 3tR 10% 

(B) 2% 3iTR 10% (C)-2 Ipss (1 
Vp (C) 10% 3 1% 

(D) Ipss(1 
(D) 5 % 3TR 1% 

Vp 
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117. A step-up chopper is used to deliver load 119. Which type of charge carrier has the greatest 

source. If 
mobility? voltage of 500V from a 220V d.e 

(A) Positive ions 
the blocking period of the thyristor is 80 us 
the required pulse width is . 

(A) 50.8 us (B) Negative ions 

(C) Free Electrons 
(B) 101.8 Hs 

(D) Holes 
(C) 924 us 

(D) 152.4 us 

s00 V a ATR 220V d.c. Faa 

(A) TT% AT7A 

(B) UITH7 3IT4A (A) 50.8 us 

(B) 101.8 us 

(D) BI 
(C) 92.4 4s 

z0. What is the magnetic susceptibility of an ideal 

(D) 152.4 u 
118. A travelling wave 400/1/50 means crest value superconductor? 

of 
(A) 400 V with rise time of 1/50 s (B) 400 KV with rise time 1 s and fall time 50 

(A) 1 

(B)-1 S 

(C) 0 
(C 400 KV with rise time 1 us with fall time 

(D) Infinite 
50 4s 

() 400 MV with rise time 1 us and fall time 
50 us 

T? 
(A) 1 

(A) 400 V FT 
EIEA 1/50s 

(B) 400 KV HI Ig EIE4 1 s a ia (B)-1 EISH 50s 

(C) 0 
(C) 400 KV FTP IT EE4 1 us a DTa (D) 3T 

aTE 50 us 
(D) 400 Mv HI IgT TI4 1 us a piA 

ETE 50 s 
113 
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